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1| &1 100 L 11-50 2t hw 2,000 % — wh 18,200 17,815 — kwh 0.00 t-COz/kWh of 0979 0
2 | &Il 100 v 11-60 3t vy 3,000 NG 5,075 Nrd 31,675 31,220 6.2 kn/Nri 1.96 t-CO2/1000NN 9,950]  0.986 9,807
3 | &Il 100 v 11-70 8t k5w 8,000 e 9,660 26,600 26,110 2.8 /e 2.62 t-COx/ke 25300]  0.982 24,834
4 | = 100 v 11-80 11t F5v) 11,000 e 9,394 ¢ 28,175| 27,650 3.0 kn/¢ 2.62 t-COz/ke 246000  0.981 24,142
5 | ®)100 vwi1-90 [ 12tb5yy | 12,000 | _mw | 12320¢ _ | 30800 301000 _ 25me | 2.62 tcome 32300 __0.977| __ 431,566]
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No. P 48 5H = 78 85 98 108 /118 125 18 2H 38 5t
JRRVERE (kWh/A) -

1 [FEFFO0 (km/B) 2,600 2,600 2,600 2,600 2,600 2,600 2,600 18,200
=E&E+0 (km/B) 2,545 2,545 2,545 2,545 2,545 2,545 2,545 17,815
PREMERZ (Nmi/B) 725 725 725 725 725 725 725 5,075

2 |FETFO0 (km/B) 4,525 4,525 4,525 4,525 4,525 4,525 4,525 31,675
=£&E+0 (km/B) 4,460 4,460 4,460 4,460 4,460 4,460 4,460 31,220
PRRUERZ (2/8) 1,380 1,380 1,380 1,380 1,380 1,380 1,380 9,660

3 |FETFO0 (km/B) 3,800 3,800 3,800 3,800 3,800 3,800 3,800 26,600
=E&E+0 (km/B) 3,730 3,730 3,730 3,730 3,730 3,730 3,730 26,110
PRRUERZ (2/8) 1,342 1,342 1,342 1,342 1,342 1,342 1,342 9,394

4 [FEFFO (km/B) 4,025 4,025 4,025 4,025 4,025 4,025 4,025 28,175
=£&E+0 (km/B) 3,950 3,950 3,950 3,950 3,950 3,950 3,950 27,650
PRRUERZ (2/8) 1,760 1,760 1,760 1,760 1,760 1,760 1,760 12,320

5 |FET+F0 (km/B) 4,400 4,400 4,400 4,400 4,400 4,400 4,400 30,800
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